MA 16010 Lesson 31: Definite Integrals II

Recall: The geometric meaning of the definite integral [ f f(x)dz is:
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“Algebraic rules” for definite integrals. Assume a <b < c.
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Exercise: Assuming that / 622 dz = 112,
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Exercise: Given that / tidr =9, / z*dzr = 63 and / r’ dz = 324,
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f(t)dt =38 and/ g(t)dt = 11,
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Exercise: Given that/ flHdt = 31,/
—4 S

ma [ (ot0) - 24(0)
f(fgéc) 2§ce))p(1c g& ) At fo& -1 -2 ff(f)a&

) My{ J: g(};’) { o : -r" Jc(:ﬁ)a({' 4(1{({.)9’#-‘: r{(:() dk

‘:l/ﬂ/“-/ ) ‘i‘/\/
& 3l

-)f Y = - -8-123

f(g(’c) 24’&)%& M~y 22 A1-4(--38
/



b

b ¢
Exercise: Given tha‘t/ f(z)dz =14 and/ f(z)dz = 2-/ f(z)dz,

find / flz)d.
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